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TferfeEa 1491 &1 STqaed TgT 37K ITHT GIerT BTy :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)
(viii)

549 J97-97 H 33 Y97 & | @4 397 AfHarE & |
Y9797 i @Vl # f[Ayifaa 8 - @ &, @, T, 709 & /

GUE & 77 G&I1 1 G 16 T% Tgladheyid J#R & J97 & | J4% 97 1 3% H7 & |

GUg G - v &1 17 & 21 a% 31d Tg-F70F JHR & 397 & | Fe9% J97 2 371
#E

GUE T - J97 G&IT 22 G 28 TF TY-IF0T JHN & J97 8 | F9% 97 3 3] &7
g/

TUE T — Y97 &7 29 TIT 30 FG-3TIRT J97 & | Je9F Jo7 4 37k &1 & | 57
39-Y391 § & Tk 39-Y97 § TaRF [dhcq &1 997 13397 77 & |
T T Y97 &I 31 G 33 T T -Fa1T JbH & J97 & | Icdb J97 5 3Bl #T & |

J7-97 H GHy laeey 787 1397 T & | 29, @US @, T 79T 7 7 aRF [dHq BT
rae 1397 737 8 1 ghenef &1 57 3991 7 & 131 vk 397 7 I i & |

(ix) &7 3 1o gioanfea Wil & org 37em 394-77 & |
(x) 5 BEI T &, TGTH R 37K 3fad &G & T o7 F71¢ 717 =067 |
Wus <h
To7 G 1 G 16 TF Tglaehediq JH5R & 1 3% & 97 & | 16x1=16
1. Tu=m < fom & yor o1 o991 sHeht 9 SSTiad o afierfard g |
(A)  Hahl (B) AT
(C) ™ (D) g (IEd)
2. & Ui foamehl (qrifepi) & AR Sfled i Icaf raid ¥ & Sfted o
woriater fafie oEl # U R % w9 ° g | 98 3T oft
A oS (B) ¥R
(C) - (D) gH*
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(ii1)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries § marks.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark

each. 16x1=16
1. Embryo formation without fertilization is observed in some species of :
(A) Maize (B) Rose
(C) Mango (D) Rice
2. The origin of life according to the early Greek philosophers was transfer
of unit of life from outer space to the different planets in the form of :
(A) seeds (B)  spores
(C) gemmules (D) gametes
57/3/3-13 3 VAWMV P.T.O.
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3.  SSUSH™ qT WA i HIRERIST § [ohd BH Tl &SI YOIl i
O g ShAST:
(A)  2n,3n (B) 2n,n
(C)  3n,2n (D) n,2n

4. U T @s H 3000 JfFAeEed &, E @ 160 WA § | @ 38 e
We T g gESioM 99 aTel &R (S9T) 1 g fehat gt ?
(A) 160 B) 320

(C) 1340 (D) 2680

5. Ti8 H 1850 % G o AT, ITA-STARNRLT I H TTehideh IX0T o THE o
ey it (TTe) TEl el Il bl 3T9ETT Yo q@i oTel el o

(A) I A A (B) H&T 37t off

(C) aHI <hl & A oAl (D) 2 <hl g 31t off

6. Tafafea s fowrd 0 o frg foer @ =afe &1 sier +e, s &R,
G-Ik Y a1 Hg 31113 €9 9 Gal gl @ ?

A) T fagm

(B) s fagm

(C)  weATgThect fagm
(D) vugasH fagm

7. U % A IS dTcl Uh Y 1 TUGT b Yod I dTcl WY o A1y
LT SHTRAT AT | Ikt Fy |adfd § uitarfard gmm

(A)  25% AT : 50% TS : 25% 3
(B) 50% &S : 50% ¥

(C)  50% T : 50% ¥od

(D) 25% AT : 50% AT : 25% v
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3. The ploidy of apomictic embryos developing from the nucellus and
antipodal cells respectively would be :
(A)  2n,3n (B) 2n,n
(C)  3n,2n (D) n,2n

4., A DNA fragment has 3000 nucleotides, out of which 160 are Guanine.
How many bases having double hydrogen bonds between them does this
DNA fragment possess ?
(A) 160 (B) 320
(C) 1340 (D) 2680

5. After the 1850s in the post-industrialisation era in England, the expected
effect of natural selection on the number of white-winged moths as
compared to the dark-winged moths was :
(A) Less in number (B) More in number
(C)  Both were less in number (D)  Both were more in number

6. In which of the following chromosomal disorders do the individuals have
short stature, small head, furrowed tongue and partially open mouth ?
(A)  Turner’s syndrome
(B) Down’s syndrome
(C)  Klinefelter’s syndrome
(D) Edwards’ syndrome

7. A Snapdragon plant bearing pink colour flowers is crossed with a
Snapdragon plant bearing white colour flowers. Their F; progeny will
show :
(A)  25% Red : 50% Pink : 25% White
(B) 50% Red : 50% White
(C)  50% Pink : 50% White
(D) 25% Pink : 50% Red : 25% White

57/3/3-13 5 VAWV P.T.O.
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T TN FOFH (PHSl) o et (TweaTs) § Hhivd & eH SO, g,
@i, fweg qen Snferl % Trg 3 gis Hiot uftfera & & | Wft & T
YgaH i TS o 3Tk TshHUT T S 2 :

(A)  THEHIETEE (B)  THIaT fRecifcrfeer
C) Fmiftaa swgus (D)  &IegiHeT Zis%l

9. T Dled a1 & arR g Sfaaifass gfatieht St o @rewiHon s
GTeh TATSHS o 1Y Teg (Sed) i Ifsham 36 TATEH g & 99 & Tehl

(A) P Ui (B) EIUAU AT
(C) ufdeem Tg=yfaerTs (D) p-AFEEST

10. UH WM H F Forg al M“NH,Cl I% Gadd wem § fasfaa foem
(14N T1EISA 1 goohl THEATHS ) | 3T UvENq 8 ARCISM o WRY
goeerntae  (19N) I gadq miem ° 6 difeai qe wafdia fokn mn | 6 difea
% G b SITAT ! Fepftia R T3 qem CsCl o FFurdT T 3TTeh—301 g
frssfia fFm T | CsCl o9cd Jaurdn 39ehgul W AT & TE o
(Ecoh1/Tehitd /ARY) 3R afeei o U sl TgaH HiT |

(A) TR : Wi, 1:16
(B) goehl : W{l, 1:31
(C) HehRd : WRI, 1:31
(D) ®oehl : WA, 1:05
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8. A patient is suffering from the infection of the alveoli of lungs and is
showing the symptoms of fever, chills, cough, headache and bluish
coloured lips and finger nails. The patient was diagnosed to be suffering
from the infection of :
(A)  Epidermophyton (B)  Entamoeba histolytica
(C)  Haemophilus influenzae (D)  Salmonella typhi

9. The linking of the antibiotic resistance gene with the plasmid vector of

Salmonella typhimurium by Stanley Cohen and Herbert Boyer was made

possible by the enzyme :
(A) Taq polymerase (B) DNA ligase

(C)  Restriction endonuclease (D) B-galactosidase

10. In an experiment, E. coli is grown in a medium containing 14NH4C1.
(MN is the light isotope of Nitrogen) followed by growing it for six
generations in a medium having heavy isotope of nitrogen (15N). After six
generations, their DNA was extracted and subjected to CsCl
density gradient centrifugation. Identify the correct density
(Light/Hybrid/Heavy) and ratio of the bands of DNA in CsCl density

gradient centrifugation.
(A) Hybrid : Heavy, 1:16
(B) Light: Heavy, 1:31
(C) Hybrid : Heavy, 1:31

(D) Light : Heavy, 1:05
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11. Thid H STEHIG TEEH 39y g atelt qRfEafal § g (Sfeew) i wAie

! T AT Y TAISE Jhg T5h BT :

(A)

(C)

:
;

HHL —>

qufY g

97y —>

(B)

Ay gca

qgHq —>

(D)

gAY 9

gy —

12. PCR ¥ Swiu & yadq & fou feffead § @ oF-81 Iushmehi o areieH
! TE THR § EUd Hiar 7 ?

(A)

(B)

(®)

(D)

57/3/3-13
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11. The population growth curve applicable for a population of beetles
growing in nature under unlimited resource conditions available to them

will be :
By B
-~ -~
i i
o S
b} Q
= =
= o
) & ®) &
L <
2 2
= =]
A~ : = 3
Time — Time —
By by
- -
.E .E
o o
[+}] 4]
0 = D) g
© g D) g
= =
© ®
= =
2, 2,
o o
a : ol :
Time — Time —

12. Which one of the following represents the correct annealing of primers to
the DNA to be amplified in the PCR ?

' 3’
a) 5w 35
3F 5»"
5 3
(B) 5 8 gllls
3’ 5
3 o'
© 3k 3
5F I I l ] 3!
3 o'
(D) 5 g gllllg
5r I I I I Sf
57/3/3-13 9 VANV P.T.O.

.
Qcollegedumas
India’s largest Student Review Platform



[

s

Yo7 G 13 @ 16 % 1678, 31 97 15T 7TQ § — (74 T %1 37159 (A) a97 gt &1
FRU (R) ZRT 37 a1 77 & | 37 3941 & @&l 3% 17 fow 7w #isi (A), (B), (C)
3% (D) 7 & gaa< Ao |

(A) AR (A) 3 HROT (R AT Tal & 3R SR (R), AHAT (A) hHi
g AT Rl © |

(B) fshud (A) 3R HRU (R) gHI T& &, Wg SRl (R), b (A) H
g SURST gt il g |

(C)  AfTHH (A) Wl 3, T PRI (R) TeAd 7 |

(D) 3IfYHe (A) TeId 8, 9T HROT (R) Tl 7 |

13. SYHIT (A): AR AAS— H JHAS FCARR YO AT 7, S 36k
YT IRy | faehfea g1 S 7 |

R (R) : THAS SISUSER o ke YUY § fed grar & a1 T o1 o

forenférd &1 STar 2 |

14. YFHI7(A): Tadies dRifuge O Afedfiod Iucteddl 3 3Tk THTHH
farzror & wgrdn e @ |

HR (R) : Rrenfea-a IRIfee 1 YR IHAR W FHdd 2T 8 |

15. 379%g7 (A): gehgihdl § IRIYH or@ (UffId) ¥ 313heh I §IH h
foTe aHEya (TeTSiEnT) UshA | ST Ul § |

BRI (R) : ehgfohal T Ui oi@ (Yfafafy) # sk 9 3t=umhes gHI
Bld & a7 3Tedeheh 31fshd BId 2 |

16. 377 (A): Trel =Afth g Uehigia o Toehrell (S8 3ifuss a9 o)
T § Iha I &fd (FTEE) wgad 2 |

R (R) : Uchiglal ol Td T 38 Q1 ARk % R INAR & oI
HHE TAT AT Hee T HRUT o AT 8 |
Qcollegedunias
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For Questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A): The zygote gives rise to heart-shaped embryo and

subsequently proembryo in most angiosperms.

Reason (R): The zygote is present at the micropylar end of the embryo

sac and develops into an embryo.

14. Assertion (A) : The stirrer facilitates the even mixing of oxygen

availability in a bioreactor.

Reason (R): Stirred-tank bioreactors generally have a flat base.

15. Assertion (A): Primary transcripts in eukaryotes are subjected to

splicing to remove the introns.

Reason (R): Primary transcripts contain both exons and introns and

the introns are non-functional in eukaryotes.

16. Assertion (A) : The chronic use of alcohol by a person leads to cirrhosis.

Reason (R): Alcohol addiction at times becomes the cause of mental
and financial distress to the entire family of the addicted

person.

57/3/3-13 11 WAV P.T.O.
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17. ‘Sceoed (V) e orcid Wt U9 HEw Ul dehieh 8, T B9
HIN § 38 W AT a9 oM g7 8 |7 e hl —AREadr g Hig | 2

18. fafia @@ aret ST et & WY § Igd U gaoH (IaeIhiRICH) Jeehiul
& oI GASFT A, B AT C o1 3793 hieh 31 U ¢ 991 & 3T <INIT -

0 L P
v e g | | e ﬁl S %

]1
e R SEER T
SIS I ———> Jﬁgﬁw |ﬁ'g?r%m
— :|II
e e
AN A IS B TIH C

(%) < WASHI AdA B H & foped 319 SITAT @i 1 Yo §HT Gl a
FT 2 39 I <hl AEEGT g iU |

(@) GISH-CH Idu I 8 i9-8 I8 ofe SuAT el arelt 8 | 3199 I
= =ETdar fug HifST | 2

19. m-RNA &1 T& HcdHh Y @S S Th dlshd TAUSE TG 1 He T
HT 3, & feu T e (TR W fomm Hifse qur 3m fer @ ywEt % W
ﬁ?ﬁgQ:

mRNA 5 - UCAUUACCACGAUUCUUUAAAAGA -3’

(%) Afg 5d (Wle) The (HISH) | U & TIE W ¢’ Ifqwqmiud g1 I, aqrf
fqu MU ypei (FIETl) T fohaq THHT o ST ? 3194 I hl ST
T |

(@) 39Y% mRNA % ¥HH mRNA ¥ J@l =¥ The (isH) § A ¢
TYE W U’ &, 9 G 84 a1 IAIILess d UHHET 3TFAl shl T
fafau | 31 IR < =mEETaar fag i | 2

57/3/3-13 12
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17.

19.

SECTION B

“Amniocentesis is a very useful and important technique, but due to some
reason there is a statutory ban on amniocentesis.” Justify this statement. 2

With reference to the set-ups (A, B and C) given below, of the
electrophoretic separation of a mixture of DNA fragments of varied
lengths, answer the questions that follow :

Well rweu Wl
_,M Cathode Anode ]
— :I !
Current Current
Gel —— applied applied
particles :] I

DNA fragments
in well

Anode Cathode
Set-up A Set-up B Set-up C

(a) In which one of the two Set-ups, A or B, would you see the DNA
fragments separated and why ? Justify your answer.

(b)  In Set-up C, which one of the two, I/1I, are the bands of longer
fragments of DNA ? Justify your answer. 2

Consider the given data of a hypothetical small portion of mRNA that
codes for a functional polypeptide chain and answer the questions that
follow :

mRNA 5 - UCAUUACCACGAUUCUUUAAAAGA -3’

(a) How many amino acids will be formed from the given codons, if

substitution of ‘U’ by ‘C’ takes place at the 5t codon ? Explain your
answer.

(b)  Write the number of amino acids that would be in the polypeptide
synthesised by a similar mRNA as above, where in the fourth
codon instead of ‘C’ there is ‘U’. Justify your answer. 2

57/3/3-13 13 WAV P.T.O.
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(%) TH TAT NG § AT =5 o GUH o Il THE o Hg@qul

affirererr ferfe |
AT
@) () A W ) =T 99T setai % T Sfa gy aen e
o 1= @Sy %1 A6 FEqor iy |

(i) T ST JHH W 38 §Y T FHR faRay |

21. A (ep1) w1 7 ? T 3W IR T Yferse AT A1l 7, @ I8 T AUR W
(FhR) R T 7, fafean |
wWUE T
22. TUH AGASIS oh YHIFT TATEHIY hl FTIEA-HIE h1 FoF SH15C | 36 fohral
o9 fufa w0 = amifera HifSe qun 39 JmET 1 Soa@ Hifse |
23. T W 1T (V) el HEEAA H @4 aTct Fial shi qufse § gH el IHEd i
UIERET TR qor QF okl e o g auie T 2 | SR J7eIEH hifee
ddm 35k M fou MUyl b I AT | sy Td qun gER w4 uelidt Ala
(et / Asreret) g et fepg €
gafs-ueh gafsea
(aferat o1 JamE)
*Mﬂ P B “‘""9 A SRR 5 |
57/3/3-13 14 AAARAAARAAAMAAAAMAANAA
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(a) Write important features of ‘humus’ formed during the
decomposition cycle in a terrestrial ecosystem. 2
OR
(b) @) Graphically represent the relationship between species
richness and area on a log-log scale for bats and fishes.
(ii))  Write the equation for the relationship as on a logarithmic
scale. 2
21. What is a vaccine ? Write the basis on which it acts when administered in
the body. 2
SECTION C
22. Draw a T.S. of a mature anther of an angiosperm. Label its any three
wall layers and mention their functions. 3
23. A population of snakes lived in a desert with brown sand. Study the
drawings given below showing the change in the population from ‘one’ to
‘two’ over time and answer the question that follows. Brown snakes and
Grey snakes are represented by alleles A/a (Dominant/recessive).
Population-one Population-two
(Migration of Birds)

.
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(%) Il qACTH | AT fomives 6l AR 9% 7, AT GRS THTE! T
TSt et gal (|af) 6t Saha w1 aiehed $HI |

(@) fawm &t g frafafa &1 9w fafge Sos woeey gafseus @
qHce-2l 1 T g1 | 3

24, (%) () SENYG GIF § W] Aq1iEd T T YA MK BT ITAT HH o Qf
Y@ RO i T FET |

(i) S ETE 9 H S= g8 hed (W) & FRHl T 3w # Ieoie
5£”3Q | 3

AYAT

o o o

(@) fafrcast gro amm=a: F=ffaa T & Iw=m o 3w fhr S o
SIETshT 3TU] qAT 3Teh YEHSAT AId ol 9 FARGT : 3

(i)  AEISIeId SHHH

(i)  BfR HIAEUA hl 3 &KX

(iii) 3T Sl

25. TARIREd o STYR W AHAE H oA G TS o s (WG hITT 3
(%) TshH e YT BT & |
(@) ufd e I[EhepIfIehIsTl/TAfleh 3 gRI 3cda HRISid JHehi ohl
e |

(M) a8 fafime sraxye St rdeE fawa-11 3 2iar 2 |

57/3/3-13 16
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(a)

(b)

24. (a)

(b)

If the frequency of the recessive trait is 9% in population-one, work
out the frequency of homozygous dominant and heterozygous

dominant snakes.

Name the mechanism of evolution that must have operated so that

population-two evolved from population-one. 3

(1) List two major reasons for using cow-dung in a biogas plant

instead of using domestic sewage.

(ii)  Mention one use of the unspent slurry of the biogas plant. 3
OR

Name the bioactive molecule and its microbial source generally

used by physicians to treat the patients for : 3
(1) Myocardial infarction

(i1))  High blood cholesterol level

(iii) Organ transplantation

25. Differentiate between spermatogenesis and oogenesis in humans on the

basis of the following : 3

(a)

(b)

(c)

57/3/3-13

When the process is initiated.

Number of functional gametes produced per primary

spermatocyte/oocyte.

Specific site at which meiosis II is completed.
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26. WX % Wi & T T (FU1) STHI/EHE (Viv) aa1 o7 i feurfa svefia /s
(A/a) a1 NG o 9 @ H1E (FH01) HAT T | A9 € T8 arfedsst 1 ‘@, b
TAT ¢’ 31T | Sk o GRIATET (HHICIEY) TAT Fy Fald o HHICET 1 3=
T |

7% 918 (F127ET) F; 98l (#11e157)

(a) s, 31efig x AW, e 6/16 T%e, 31eflT
2/16 T%g, 7

6/16 ST, 3ref
2/16 ST, reft

(b) &Y, 7 x Whg, A 1/4 strY, s1efi
1/4 ST, 37T
1/4 e, A&
1/4 T%he, AT

(c) <Y, a7efla x ST, e 3/4 SR, 3refi
1/4 e, A&

ST ‘@’, D’ YT ¢ b IAH hid H Tcdh Seh o S(HICIST hl el hilolT
(9dT IS0 | 3

27. I 3ICEWNH S e § WA § WA Hi fohegl o fHehIeti i
ST HIT | 3

57/3/3-13 18
Qcollegedunias




26. Three crosses were carried out in pea plants with respect to flower colour
violet/white (V/v) and flower position axial/terminal (A/a). Study in the
table the crosses ‘a’, ‘b’ and ‘¢ where parental phenotypes and their F,

progeny phenotypes are given.

Parental plants (Phenotypes) F; Progeny (Phenotypes)

(a) Violet, axial x white, axial 6/16 white, axial

2/16 white, terminal
6/16 violet, axial
2/16 violet, axial

(b) Violet, axial x white, terminal 1/4 violet, axial

1/4 violet, terminal
1/4 white, axial

1/4 white, terminal

(c) Violet, axial x violet, axial 3/4 violet, axial

1/4 white, axial

Find the genotypes of each of the parental pairs of crosses ‘a’, ‘b’ and ‘c’. 3

27. Explain any three roles of ‘predation’ in an ecosystem with the help of

suitable examples. 3

57/3/3-13 19 WAV P.T.O.
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28. (%) 39 ST 1 ST T faRay fet ST Mersh ey S Vet S
(GM) ST HHA & Y dIR HH T SAI-Meifiehl § 98 T W fham Sran
g |

(@) S| (GM) U™ A el o THAT H e Hid d fhe yepr wmed

Bl 8, AT HifNT | 3

Qs ¥

J97 G&IT 29 TIT 30 FH-3TRT J97 & | Icdh Y97 & 8 39-J97 & 578 0 39-J97
q 371aRe% 1acy 1297 14T 8 )

29. Tmfafgd ufi=se = yeat am feu U yw4t & I3 AfSu |
TS ST ienfieht 8 gfdees gemed o 3w fohen Simar 3, sife 9
2ITAT 4 fafrse STgshH 1 T8 L 30 fog W ed & | BamH I 38 THR &
T Jfqaed TARH ®, S 5’ G-G-A-T-C-C 3’ % UgaM 37 & 99 H Th
59 I G AAT G o &9 Hledl @ | Jafeh Alu I 989H 3HH 5 A-G-C-T 3’
T Y HL ST ITIHAT o T saeh i G YT C o &ie | hedl & |

(%) afg fou MU Suau w9 H Hled & I Alu I 1 390 foham e, o
T & fohad @S T ? 94 dTo] Tieh @S i TshH ITeh! FaurdT o
a1y faRgu | 1

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G &
I e O O e R I A

33 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(@) feu Tu 3Ht AT TN W AN AT 310 S o folt BamH 1
YT Alul Sfdeieq Tareat o o forment stfemmar (smefiepar) <€ smorft
I =41 2 1

(M) fopvech dTU & 3 o @ S¥H % UvEd ST % Soehi
#1ed & Ty fope fafree v (fag) w0 ufdeem domsd il sum 2
Jideed WAt gl ST § 9ga I dTal fafime faaierss

HIHH 1 ITNATIYR qg/9Tie T foafay | 2
reran
() wfeed WAt EcoRI §RT SIUAT W TgaM WM dTel faf¥rse gg=m
31 shY 1 fafaw | 2
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28. (a) Give the scientific name of the bacteria widely used in
biotechnology to create a GM cotton crop resistant to bollworm
attacks.

(b) Explain how GM cotton crop is able to resist insect attacks. 3

SECTION D

Questions no. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29. Read the passage given below and answer the questions that follow.

In recombinant DNA technology, restriction enzymes are used as they
recognize and cut DNA within a specific recognition sequence. BamH I is
one such restriction enzyme which binds at the recognition sequence
5" G-G-A-T-C-C 3’ and cleaves this sequence between G and G on each
strand, whereas Alu I binds at the recognition sequence 5" A-G-C-T 3’
and cleaves these sequences between G and C on each strand.

(a) If Alul is used to cut the given DNA strand, how many DNA

fragments would be formed ? Write the sequence of each fragment
formed with its polarity. 1

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G ¥

N T e R R
3 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(b)  Which one of the two restriction enzymes BamH I or Alul will

preferably be used on the same given DNA strand to make a
recombinant DNA molecule and why ? 1

(c) After binding to the two strands of the double helix DNA, where
specifically does the restriction enzyme act to cut the two strands of
DNA ? Write the specific term used for the specific nucleotide

sequences of DNA recognised by a restriction endonuclease. 2
OR
(c) Write the specific sequence of DNA segment recognised by the
restriction endonuclease EcoRI. 2
57/3/3-13 21 VAWV P.T.O.
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30. H fou U M@t o wied qen Wier $i e FEfe (SHEE) % qodsh

3Ty faawor =1 gl T B (STAUSE ST s 2003) | $HhT AT Hih

gefuq fefafgd geat & s fafEaw

85+

80-B4
75-79
70-74
65-69
60-64
5559
50-54
4549
40-44
3539

TG (i H)

30-34
2529
20-24
15-19
10-14

5.9

0-4

10

85+

BO-B4
75.79
70.74
65.69
6054
55-59
50-54
4549

Y (et H)

40-44
35-39
30-34
25.29
20-24
15.19
10.14

5.9

0.4
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30.

Study the figures given below that depict the comparative age

distribution of human populations in Sweden and Rwanda. (International

Data Base 2003) and answer the questions that follow :

85+

80-B4
75-79
70-74
65-69
60-64
55.59
50-54
4549
4044

Age (years)

35-39
30-34
25-29
20-24
15-19
10-14

59

0-4

o 7o [ 5%

Sweden

2.7% 2.5%

Females

10%

85 +
8084
75%-79
70.74
£5.59
B0-64
55.59
50.54
4549
4044
35.39
30-34
25.29

Age (years)

20-24
15.19
10.14
5.9
0.4

57/3/3-13

D—
B% E}}'n 4!55 2% 0% 2% 4% EJ% S:’.&.
Percent of population

0.0% | 0.1%
0.2% l 0.3%

Rwanda

Percent of population
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31. ()

32. (&)
(@)
57/3/3-13

(@ISl  Jag SM9R dral Y TRie § F= fshy Fehran S dehel 7 2
fo # feu MU SAfeRet it TEEEAr & U IW w1 T (gfee) Hifsr |

e 61 S w1 AT foawer sar @ 3y o a U e 9l

2 | I8 I S A @ 2

I feu MU wigq & smaen oy filfie & yr &1 9w fafeu |
srerat

39 €T TTT EreT & 31g ffire =1 yer fafaw |

Qs &

“Trmgmst oTawe | gHi THTdl o JHIE i TI8e AT0eTh FEIHTIeT
(ISif-E) H uRafed gt & |7 AHE F(eR a8 ABO hi I=ITid b
eIl & Y 6 ST HIT |

T

“dlem T (FH-3AUN) H S % Tk Tg W1 e qun et

Th Y Th hs F &I D B g |7

() &% MUY H GEHS AT sh! Gishadr & ‘o  (feafam
A 6 HEfaf (Jormedt) S =Rt HifvT |

i) “‘clp Tais & EmT & Fwonars FEEe s St 2 1”7 SR
1 IPT Hd gL HYA Sl IRETad (ifa) fag Hifvm |

6 ISHIETE & HHd IR ° Yfase g o §1c 8 Hshitd SAfh <hl
HTel O71% et AeaX g1 ¢ M deh hl & U orsHifegq
S =I5k T 9 hifaU |

(i)  wI7sHETg o Sod = ® HEl 871%cfly % IR gd g
Tt @ qREeTsT sl Iooi@ hifvru |

HAAAT

(i)  HeH 3T§C TUT GeH 39S 9 &l I faRau |
(i) hE o ANFE T Thdl O TGS Tl i &
HIfT |
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(a)
(b)
(c)
(c)

31. (a)
(b)

32. (a)
(b)

57/3/3-13

What can be inferred from the very broad base of Rwanda’s age

pyramid ? Support your answer with the data provided in the figure. 2

Sweden has an age distribution that is approximately of the same

width near its base as at the apex. What does this indicate ? 1
Name the type of age pyramid shown above for Sweden. 1
OR
Name the type of age pyramid shown above for Rwanda. 1
SECTION E

“The influence of both the alleles in a heterozygous state is clearly

expressed in codominance.” Explain with the help of inheritance of

ABO blood group in humans. 5

OR

“A group of genes are regulated and expressed together as a unit in
lac operon.”

1)

(i1)

(1)

(i1)

(1)

(i1)

Explain the mechanism of switching ‘on’ of the structural
genes of lac operon.

“Regulation of ‘lac operon’ is referred to be negatively
regulated.” Justify giving a reason. 5

Describe the life cycle of Plasmodium from the time it enters
the human body till a female Anopheles mosquito bites an
infected person.

Mention the two events of Plasmodium life cycle that occur
within the female Anopheles body. 5
OR

Write two differences between malignant tumor and benign
tumor.

Explain any three diagnostic techniques for the detection of
cancer. 5
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33. ()
(@)

57/3/3-13

(i) T I AicdTfed S wq IS GGl g1 foefaa el 9w
IR sl ST HITT |

(i) Ui WU ] galcaTad o1 hid & ? his Teh hRU TR | 5

AYAT

Tsh T G St o 37dd sk <hl TSR qT IR JTerEenati i
T TN qT SRR gAM] i YfHeh! o a1y FAfIRaa Jreeensii
o 37T hIfT ; 5

(i)  Yohld JTaET/IgUigHd JTaeel
(i) @ greE

(iii)  3ATda Y%A
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33. (a)
(b)

57/3/3-13

(1) Explain any four devices that flowering plants have developed

to encourage cross-pollination.

(i) Why do plants discourage self-pollination ? State any one

reason. 5

OR

Explain the ovarian and uterine events taking place along with the
role of pituitary and ovarian hormones, during menstrual cycle in a

normal human female under the following phases : 5
(1) Follicular phase/proliferative phase
(i1)  Luteal phase/secretory phase

(i1i)) Menstrual phase
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